hapter 2 Questions 17-Sept-2007
5. 3¢ figure in the length of the pin is uncertain, scale of ruler hastenths. Pinlengthis2.85 cm.

6 Ruler scaleis marked to the nearest tenthe of acm. 2.850 would imply the scale was marked to nearest hundredth.

1. a 931x107 b. 2.99x 10-6 c. 4.88x10-5
d. 790x109 e 492x10-7
2. a 996x10-1 b. 4.40x 103 c. 822x10-1
d. 400x 10-9 e 842x10-2
1.  a 102.623 97.381 known to 3" decmil
b. 236.2 171.5 to 1% decmil
c. 3.0814 3.0814 to 4™ decmiil
d. 4.67 13.21 known to 2" decmil
2 ab16 3.04 to 2™ decmil
b. 2423 2.423x 10 3= 2119 + 2423
c. 0.516 5.159 x 10 -1
d. 2423 Sameashb

3 a 32secx 1 min/ 60 xec=53 min
b. 241bx 1kb/2.2051b=1.1kg
c. 241bx45359¢g/11b=1089g=1.1x103"3¢g
d. 3150 ft x 1 mi / 5280 ft = 0.597 mi
e 142inx1ft/12* =1.18ft
f. 22.4gx 1 kb/ 1000 g = 0.0224 kg
g. 9.72mgx 1 g/ 1000 mg=0.00972 g
h. 291 mx 1.0936yd/1mi =3.18yd
4 a 223mx1.094yd/1m=244yd
b. 46.2ydx 1m/1094 yd =42.2m
C. 292cmx1in/254cm=115in

d. 881.2inx254cm/1in=2238cm



e. 1043 kmx 1 mi / 1.6093 km = 648.1 mi

f. 4455 mi x 1.6093 km/ 1 mi =716.9 km

0. 36.2mx 1km/ 1000 m=0.0362 km

h. 0.0501 km x 1000m /1 kmx 100 cm/1 m=5.01 x 104 cm
a 5250zx1Ib/160z=0.3281b

b. 125gx 11b/453.599g=0.276 1b

c. 125gx 1.b/45359gx 160z/11b=4.410z

d.125ml x 1L /1000 mL =0.125 L

e. 125mL x 1.057 qt / 1000 M| x 2 pt / 1 gt = 0.264 pt
f.25mi x 1.6093 km/ 1 mi =4.0km

g. 25mi x 1.6093 km/1mi x 1000m/1km=4.0x 103 m

h. 25mi x 1.6093 km/ 1 mi x 1000m/1kmx 100cm/1m=4.0 x 10"5cm



